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I(mA) | Vg(mV) | Vz(mV)
0.94 0 6.5
20.7 0.07 145
40.4 0.15 281
60.6 0.22 420
80.5 0.34 557
100.4 0.42 695
120.5 0.46 833
140.0 0.53 966
160.3 0.62 1104
180.2 0.71 1240
199.7 0.76 1371
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I(mA) | Vg(mV) | Vy(mV)
0.09 0 0.5
20.09 0.31 137.1
39.7 0.61 271.2
60.5 0.93 412
79.7 1.7 542
99.7 2.06 676
120.5 2.54 817
140.3 2.95 949
160.6 3.83 1085
179.5 4.93 1210
200.8 5.78 1352
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I(mA) | Vg(mV) | Vi(mV)
0.09 0 0.5
20.16 2.88 137.1
40.5 5.8 271.2
60.8 8.71 412
80.6 11.55 542
100.6 14.41 676
120.5 17.26 817
140.3 20.13 979
160.6 23.35 1121
179.5 26.97 1253
200.8 30.10 1402
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I (A) | Vir(mV)
0.0 3.50
0.2 5.90
0.4 7.70
0.6 10.30
0.8 12.80
1.0 15.60
1.2 17.90
1.4 20.70
1.6 23.40
1.8 25.70
2.0 28.00
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f(x) = 0.003885509215142 x — 0.000957699611676
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f(x) = 0.028087957579269 x - 0.481665774037566
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